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Count The Triplets

Given an array of  integers, the task is to count all the triplets, where a valid triplet, , has  and
. When counting triplets, only count the unique ones. Two triplets are different when, after sorting the elements

corresponding to the indices, the resulting lists are different. For example, if the elements corresponding to the triplets
are 1 2 3  and 3 2 1 , then they are not unique, but the triplets 8 5 3  and 8 4 4  are unique. The triplet
elements themselves do not necessarily have to be unique, this means that 8 4 4  can be possible, as long as the 2
4 s do not have the same index.

Input Specification

The first line of input contains , denoting the size of the array.

The second line of the input contains  space separated elements , the elements of the array.

Output Specification

Output the number of unique triplets in the array, if there are no such triplets, output -1 .

Constraints

Sample Input 1

4
1 5 3 2

Sample Output 1

2

Explanation for Sample Output 1

There are  such triplets, 1 2 3  and 2 3 5 .

Time limit: 0.6s  Memory limit: 64M

N (i, j, k) Ai + Aj = Ak

i < j

N

N Ai

3 ≤ N ≤ 5000

1 ≤ Ai ≤ 106

2
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Sample Input 2

3
3 2 7

Sample Output 2

-1

Sample Input 3

6
4 1 2 3 1 2

Sample Output 3

4


